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UNIT 2: CHANGING THE PLACE WHERE WE LIVE

ACTIVITY 2.3: MATHEMATICS

Worksheet 2.3.1
I oorn ®
How many of these word problems can you solve? Use a calculator if you like.

In the year 2002 there were 231,608 immigrants in the Czech Republic. In 2008, this
number was higher by 178,486.

a) How many immigrants were there in the Czech Republic in 20087 .............cccoovevunn

In the year 2006 there were 321,456 immigrants in the Czech Republic, but in the year
2004 there were 254,294 immigrants. Compare the numbers.

b) Were there more immigrants in 2006 or in 20047 ........couevmveesereonaie e eesininnns
€) WHhat is the difference? ............cooemreeoe i et

Sasha lives in our town. He writes five text messages to his friends in the Ukraine every
week. One text message costs 9.50 Czech crowns (CZK).

d) How much does he pay for text messages to his Ukrainian friends every week?

e) How much does he pay for text messages to his Ukrainian friends a year?




